Year 1 — Maths Homework

To help you understand what we have been learning this week | would like you

to complete the following questions into your homework book.

| would also like you to spend some time reading with an adult at home and to
write this down in the reading record tracking sheet in the front of your

homework book.

Remember homework is due in on WEDNESDAY 28" JUNE.




Answer the following questions in your homework book.

One More One Less (to 100)

4, Circle one more or one less than each of the numbers represented below.
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5. Work out which number belongs to each alien.
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4. Jan, Sam and Amy are talking about their counters.

Are they correct? Explain your
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Comparing Numbers 2

4. Look at the Base 10 blocks below. Use <, > or = to fill in the blank boxes so that the

picture sentence makes sense.

A. B.
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5. Circle the statements which are correct.

A. B.
45 > 77 18 > 69
43 < 76 27 = 61
77 = 85 81 < 90
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6. Sarah and Emma are playing a game. They each take turns picking different
sweets. Each type of sweet is worth a different number of points.
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19 points 6 points
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Sarah thinks she that has won because she has more sweets than Emma.
Is she correct? Explain why.
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Comparing Numbers 2

7. Look at the Base 10 blocks below. Use <, > or = to fill in the blank boxes so that the
picture sentence makes sense.

A. B.
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8. Circle the statements which are correct.

A. B.
- seventy- ninety- .
57 = five eight > sixty-one
5 tens
68 < | and3 33 > 32
ones
8 tens 8 tens
and 9 > 85 and 2 = 82
ones ones

9. Chris and John are playing a game. They each take turns picking different sweets.
Each type of sweet is worth a different number of points.
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Six points 7 points Three points -

John thinks that he has won because he has more sweets than Chris. Is he correct?
Explain why.




